Notes Answers

Chapter 21 Cost of Capital

Answer 1
Companies are exposed to various types of risks in the course of their business operations that affect the company’s cash flows and/or cost of capital. These risks can generally be classified into two main categories:
1.
Firm-specific risks: These risks are specific to the particular activities of the company such as fire, lawsuits and fraud. Although firm-specific risks are diversifiable from an investor’s perspective, it is possible, however, for the company to manage many sources of these risks with adequate internal controls and insurance contracts.
2.
Market-wide risks: Market risk is associated with the economic environment in which all companies operate, including changes in interest rates, exchange rates and commodity prices. These risks can be managed using derivative contracts.
Answer 2
(a)

Weighted average cost of capital (WACC) calculation

Cost of equity of KFP Co = 4·0 + (1·2 x (10·5 – 4·0)) = 4·0 + 7·8 = 11·8% using the capital asset pricing model
[2 marks]
To calculate the after-tax cost of debt, linear interpolation is needed

After-tax interest payment = 100 x 0·07 x (1 – 0·3) = $4·90
[1 mark]
[image: image1.emf]
After-tax cost of debt = 5 + ((10 – 5) x 4·71)/(4·71 + 19·59) = 5 + 1·0 = 6·0%

[3 marks]
Number of shares issued by KFP Co = $15m/0·5 = 30 million shares

Market value of equity = 30m x 4·2 = $126 million
[1 mark]
Market value of bonds issued by KFP Co = 15m x 94·74/100 = $14·211 million

[1 mark]
Total value of company = 126 + 14·211 = $140·211 million

WACC = ((11·8 x 126) + (6·0 x 14·211))/140·211 = 11·2%
[2 marks]
(b)(i)

Price/earnings ratio method

Earnings per share of NGN = 80c per share

Price/earnings ratio of KFP Co = 8

Share price of NGN = 80 x 8 = 640c or $6·40

Number of ordinary shares of NGN = 5/0·5 = 10 million shares

Value of NGN = 6·40 x 10m = $64 million
[2 marks]

However, it can be argued that a reduction in the applied price/earnings ratio is needed as NGN is unlisted and therefore its shares are more difficult to buy and sell than those of a listed company such as KFP Co. If we reduce the applied price/earnings ratio by 10% (other similar percentage reductions would be acceptable), it becomes 7·2 times and the value of NGN would be (80/100) x 7·2 x 10m = $57·6 million
(b)(ii)

Dividend growth model

Dividend per share of NGN = 80c x 0·45 = 36c per share
[1 mark]
Since the payout ratio has been maintained for several years, recent earnings growth is the same as recent dividend growth, i.e. 4·5%. Assuming that this dividend growth continues in the future, the future dividend growth rate will be 4·5%.
Share price from dividend growth model = (36 x 1·045)/ (0·12 – 0·045) = 502c or $5·02

Value of NGN = 5·02 x 10m = $50·2 million
[3 marks]
(c)

A discussion of capital structure could start from recognising that equity is more expensive than debt because of the relative risk of the two sources of finance. Equity is riskier than debt and so equity is more expensive than debt. This does not depend on the tax efficiency of debt, since we can assume that no taxes exist. We can also assume that as a company gears up, it replaces equity with debt. This means that the company’s capital base remains constant and its weighted average cost of capital (WACC) is not affected by increasing investment.
Traditional view of capital structure:

1.
The traditional view of capital structure assumes a non-linear relationship between the cost of equity and financial risk. As a company gears up, there is initially very little increase in the cost of equity and the WACC decreases because the cost of debt is less than the cost of equity.
2.
A point is reached, however, where the cost of equity rises at a rate that exceeds the reduction effect of cheaper debt and the WACC starts to increase. In the traditional view, therefore, a minimum WACC exists and, as a result, a maximum value of the company arises.

[1 -2 marks]

M&M and capital structure:
3.
Modigliani and Miller assumed a perfect capital market and a linear relationship between the cost of equity and financial risk. They argued that, as a company geared up, the cost of equity increased at a rate that exactly cancelled out the reduction effect of cheaper debt. WACC was therefore constant at all levels of gearing and no optimal capital structure, where the value of the company was at a maximum, could be found.
4.
It was argued that the no-tax assumption made by Modigliani and Miller was unrealistic, since in the real world interest payments were an allowable expense in calculating taxable profit and so the effective cost of debt was reduced by its tax efficiency.
5.
They revised their model to include this tax effect and showed that, as a result, the WACC decreased in a linear fashion as a company geared up. The value of the company increased by the value of the ‘tax shield’ and an optimal capital structure would result by gearing up as much as possible.

[2 – 3 marks]

Market imperfections:
6.
It was pointed out that market imperfections associated with high levels of gearing, such as bankruptcy risk and agency costs, would limit the extent to which a company could gear up.
7.
In practice, therefore, it appears that companies can reduce their WACC by increasing gearing, while avoiding the financial distress that can arise at high levels of gearing.

[1 – 2 marks]

Other relevant discussion:
8.
It has further been suggested that companies choose the source of finance which, for one reason or another, is easiest for them to access (pecking order theory). This results in an initial preference for retained earnings, followed by a preference for debt before turning to equity.
9.
The view suggests that companies may not in practice seek to minimise their WACC (and consequently maximise company value and shareholder wealth).


[1 – 2 marks]
Comment on debt finance for cash offer:

10.
Turning to the suggestion that debt could be used to finance a cash bid for NGN, the current and post acquisition capital structures and their relative gearing levels should be considered, as well as the amount of debt finance that would be needed. Earlier calculations suggest that at least $58m would be needed, ignoring any premium paid to persuade target company shareholders to sell their shares. The current debt/equity ratio of KFP Co is 60% (15m/25m). The debt of the company would increase by $58m in order to finance the bid and by a further $20m after the acquisition, due to taking on the existing debt of NGN, giving a total of $93m. Ignoring other factors, the gearing would increase to 372% (93m/25m).
11.
KFP Co would need to consider how it could service this dangerously high level of gearing and deal with the significant risk of bankruptcy that it might create. It would also need to consider whether the benefits arising from the acquisition of NGN would compensate for the significant increase in financial risk and bankruptcy risk resulting from using debt finance.

[2 – 3 marks]
Answer 3
(a)(i)

As the investment is an expansion of existing activities, the risk of the investment will be estimated using the company’s current equity beta. The cost of equity may be estimated using either CAPM or the dividend growth model. Using CAPM:

Ke = Rf + (Rm – Rf) beta, or 3·5% + (11% – 3·5%) × 1·15 = 12·13%
Using the dividend growth model:

[image: image2.wmf]1192

.

0

04

.

0

478

04

.

1

4

.

36

1

=

+

´

=

+

=

g

P

D

K

e

 or 11.92%
Both methods give a cost of equity of approximately 12%

The current pre tax cost of debt is 7.5%, although this cost will vary as the proposed loan is at a floating rate. The weighted average cost of capital should be estimated using market values of equity and debt. The current market weighted gearing of Zendeck is:
Equity 30 million shares at 478 cents = $143·4 million

Debt $34m + ($56m × 1·078) = $94·37 million
This is 60·3% equity, 39·7% debt by market values.
Maintaining the current capital structure the estimated weighted average cost of capital is:
12% (0·603) + 7·5% (1 – 0·3) (0·397) = 9·32%
(a)(ii)

There is no easy method of adjusting the CAPM cost of equity for issue costs, instead cash flows would be adjusted when undertaking the investment appraisal.

Using the dividend growth model the revised equation including issue costs is:
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 (where I is the issue costs)
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(31 is issue costs = 478 × 0.065)

Assuming the new debentures carry the same risk as the existing ones, and that there are three

years until the redemption of the existing debentures, the current gross redemption yield (cost)

of debentures may be estimated from:
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By Trial and error

	Year
	Cash flow
	$
	9% discount
	PV ($)
	7% discount
	PV ($)

	0
	Market value
	(107.8)
	1.000
	(107.8)
	1.000
	(107.8)

	1 – 3
	Interest
	11
	2.531
	27.841
	2.624
	28.864

	3
	Redemption
	100
	0.772
	77.2
	0.816
	81.6

	
	
	
	
	(2.759)
	
	2.664
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The gross redemption yield of existing debentures is approximately 8%.
Assuming the new debentures have a similar risk to existing debentures they will be issued at par of $100 with a coupon of 8%. They are also assumed to be issued for the expected maturity of the investment, five years. The effective cost of the debentures may be estimated by solving:


[image: image7.wmf]5

5

4

3

2

)

1

(

100

)

1

(

8

)

1

(

8

)

1

(

8

)

1

(

8

1

8

)

5

.

3

100

(

d

d

d

d

d

d

K

K

K

K

K

K

+

+

+

+

+

+

+

+

+

+

+

=

-


	Year
	Cash flows ($)
	DF @ 9%
	PV ($)

	0
	(96.5)
	1.000
	(96.5)

	1 – 5
	8
	3.890
	31.12

	5
	100
	0.65
	65

	
	
	
	(0.38)


At 8% the value is $100 by definition

By interpolation:
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The weighted average cost of capital is:

12·5% × (0·603) + 8·90 × (1 – 0·3) × (0·397) = 10%

The issue costs and use of a different type of debt increase the WACC by about 0·70%.

(b)

· As the companies are unlisted, there is no share price with which to estimate CAPM or to use the dividend growth model.
· It might be possible to use the beta of similar risk quoted companies (with adjustment for differences in gearing), but such companies are often difficult to identify, and the degree of accuracy of the estimate of WACC is likely to be reduced.
· There is also the problem that no measure of the market value of equity exists with which to estimate gearing, although a target gearing might be used, probably benchmarked against other companies in the same sector.

· Unlisted companies sometimes use a cost of capital estimate of a similar listed company, and add a further risk premium to reflect the fact that they are unlisted. Inevitably this involves subjectivity.
Answer 4
(a)

Cost of equity

Geometric average dividend growth rate = (21·8/19·38)0·25 – 1 = 0·0298 or 3%
[1 mark]
Using the dividend growth model, ke = 0·03 + ((21·8 x 1·03)/250) = 0·03 + 0·09 = 12%


[2 marks]
Market values of equity and debt

Market value of equity = Ve = 100m x 2·50 = $250 million

Market value of bonds = Vd = 60m x (104/100) = $62·4 million

Total market value of AQR Co = Ve + Vd = 250 + 62·4 = $312·4 million
[1 mark]
Current WACC calculation

The current after-tax cost of debt is 7%

WACC = ((ke x Ve) + (kd(1 – T) x Vd)/(Ve + Vd)) = ((12 x 250m) + (7 x 62·4m))/312·4m = 11%
[2 marks]
The weighted average after-tax cost of capital before the new issue of bonds is 11%

After-tax cost of debt of new bond issue

After-tax interest rate = 8 x (1 – 0·3) = 5·6% per year
[1 mark]
Using linear interpolation:
[image: image9.emf]
After-tax cost of debt = 5 + [((6 – 5) x 7·71)/(7·71 + 0·19)] = 5 + 0·98 = 5·98% or 6%

[1 mark]
Revised WACC calculation

The market value of the new issue of bonds is $40 million

The total market value of AQR Co increases to 312·4 + 40 = $352·4 million

WACC = ((12 x 250m) + (7 x 62·4m) + (6 x 40))/352·4m = 10·4%
[2 marks]
After the new issue of bonds, the weighted average after-tax cost of capital has decreased from 11% to 10·4% because the proportion of debt finance, which has a lower required rate of return than equity finance, has increased. Gearing on a market value basis has increased from 20% (62·4/312·4) to 29% (102·4/352·4).
[1 mark]
The WACC calculation assumes that the cost of equity has not changed, when in reality the cost of equity might be expected to rise in response to the increase in financial risk caused by the new issue of debt. The share price of the company has also been assumed to be constant.

(b)
The factors that influence the market value of traded bonds are represented in the bond valuation model.
Amount of interest payment

The market value of a traded bond will increase as the interest paid on the bond increases, since the reward offered for owning the bond becomes more attractive.


[1 – 2 marks]
Frequency of interest payments

If interest payments are more frequent, say every six months rather than every year, then the present value of the interest payments increases and hence so does the market value.


[1 – 2 marks]
Redemption value

If a higher value than par is offered on redemption, as is the case with the proposed bond issue of AQR Co, the reward offered for owning the bond increases and hence so does the market value.


[1 – 2 marks]
Period to redemption

The market value of traded bonds is affected by the period to redemption, either because the capital payment becomes more distant in time or because the number of interest payments increases.


[1 – 2 marks]
Cost of debt

The present value of future interest payments and the future redemption value are heavily influenced by the cost of debt, i.e. the rate of return required by bond investors. This rate of return is influenced by the perceived risk of a company, for example as evidenced by its credit rating. As the cost of debt increases, the market value of traded bonds decreases, and vice versa.


[1 – 2 marks]
Convertibility

If traded bonds are convertible into ordinary shares, the market price will be influenced by the likelihood of the future conversion and the expected conversion value, which is dependent on the current share price, the future share price growth rate and the conversion ratio.


[1 – 2 marks]
(c)
There is certainly a relationship between the weighted average cost of capital (WACC) and the market value of the company, since the market value can be expressed as the present value of future corporate cash flows, discounted by the WACC.

Marginal and average cost of debt

· As for decreasing the WACC by issuing traded bonds, if the marginal cost of capital, in this case the cost of debt of the new bond issue, is less than the weighted average cost of capital (WACC), it would seem logical to expect the WACC to decrease.
· However, as noted in an earlier discussion, increasing gearing will increase financial risk and may lead to an increase in the cost of equity, offsetting the effect of the cheaper debt. The relationship between capital structure and WACC has been debated for many years.

[1 – 2 marks]
Traditional view of capital structure

· In the traditional view of capital structure, there is a non-linear relationship between the cost of equity and financial risk, as measured by gearing.
· Equity investors are indifferent to the addition of small amounts of debt, so as a company gears up by replacing expensive equity with cheaper debt, the WACC initially decreases.
· Debt is cheaper than equity because of the relative positions of the two sources of finance in the creditor hierarchy (the traditional view of capital structure ignores taxation).
· As equity investors start to respond to increasing financial risk, however, the cost of equity begins to increase until a point is reached where WACC ceases to fall. This corresponds to an optimal capital structure, since at this point WACC is at a minimum and hence the market value of the company is at a maximum.
· After this point, the WACC starts to increase as the company continues to gear up, rising more quickly at very high levels of gearing due to the appearance of bankruptcy risk.
· Under the traditional view the finance director might be correct in his belief that issuing debt will decrease WACC, depending on the position of the company relative to its optimal capital structure.

[1 – 2 marks]
Miller and Modigliani

M&M I (1958)
· Miller and Modigliani showed that in a perfect capital market without corporate taxation, the replacement of expensive equity with cheaper debt did not lead to a decrease in the WACC, since the effect of adding in cheaper debt was exactly offset by the increase in the cost of equity, which had a linear relationship with financial risk, as represented by gearing.
· This meant that the market value of the company was independent of its capital structure (financial risk) and depended only on its business operations (business risk).
M&M II (1963)
· In their second paper on capital structure Miller and Modigliani showed that, if taxation were allowed (so that the after-tax cost of debt was considered, rather than the before-tax cost of debt), replacing equity with debt led to a linear decrease in the WACC, because of the tax shield on profits gained by interest payments being an allowable deduction in calculating tax liability.
· Under this contribution to capital structure theory, gearing up as much as possible would maximise the market value of the company and the finance director would be correct in his belief that issuing traded bonds would decrease the WACC of AQR Co.


[1 – 3 marks]
Market imperfections view

· In reality, it was noted that companies do not gear up as much as possible because of the dangers of high gearing. Further market imperfections, relative to the idea of a perfect capital market in Miller and Modigliani’s first paper on capital structure, included bankruptcy risk and the costs of financial distress at high levels of gearing.
· These reduced and finally reversed the tax shield effect noted by Miller and Modigliani, resulting in an optimal capital structure at the point where the WACC was at its lowest and the value of the company was at its highest.


[1 – 2 marks]
Pecking order theory

In practice it has been noticed that companies do not appear to base their financing decisions on the objective of achieving an optimal capital structure, but rather have a preference for sources of finance in the order of retained earnings, bank loans, ordinary debt, convertible debt and equity. A number of reasons have been suggested for this ‘pecking order’.


[1 – 2 marks]
Answer 5
Explanation of use of CAPM

1.
The capital asset pricing model (CAPM) can be used to calculate a project-specific discount rate in circumstances where the business risk of an investment project is different from the business risk of the existing operations of the investing company. In these circumstances, it is not appropriate to use the weighted average cost of capital as the discount rate in investment appraisal.

2.
The first step in using the CAPM to calculate a project-specific discount rate is to find a proxy company (or companies) that undertake operations whose business risk is similar to that of the proposed investment.
3.
The equity beta of the proxy company will represent both the business risk and the financial risk of the proxy company. The effect of the financial risk of the proxy company must be removed to give a proxy beta representing the business risk alone of the proposed investment. This beta is called an asset beta and the calculation that removes the effect of the financial risk of the proxy company is called ‘ungearing’.

4.
The asset beta representing the business risk of a proposed investment must be adjusted to reflect the financial risk of the investing company, a process called ‘regearing’.
5.
This process produces an equity beta that can be placed in the CAPM in order to calculate a required rate of return (a cost of equity). This can be used as the project-specific discount rate for the proposed investment if it is financed entirely by equity.
6.
If debt finance forms part of the financing for the proposed investment, a project-specific weighted average cost of capital can be calculated.


[5 – 6 marks]
Discussion of limiations

The limitations of using the CAPM in investment appraisal are both practical and theoretical in nature. 
1.
From a practical point of view, there are difficulties associated with finding the information needed. This applies not only to the equity risk premium and the risk-free rate of return, but also to locating appropriate proxy companies with business operations similar to the proposed investment project.
2.
Most companies have a range of business operations they undertake and so their equity betas do not reflect only the desired level and type of business risk.

From a theoretical point of view, the assumptions underlying the CAPM can be criticised as unrealistic in the real world. For example,
3.
the CAPM assumes a perfect capital market, when in reality capital markets are only semi-strong form efficient at best.
4.
The CAPM assumes that all investors have diversified portfolios, so that rewards are only required for accepting systematic risk, when in fact this may not be true. There is no practical replacement for the CAPM at the present time, however.


[6 – 7 marks]
Answer 6
(a)

The discount rate should reflect the systematic risk of the individual project being undertaken. Unless the risk of the textile expansion and the diversification into the packaging industry are the same, their cash flows should not be discounted at the same rate.

The discount rate to be used should not be the cost of the actual source of funds for a project, but a weighted average of the costs of debt and equity which is weighted by the market values of debt and equity. It is possible to estimate an existing weighted average cost of capital for Crestlee, but the rate cannot be applied to new projects unless the following assumptions are compiled with:

(i)
The project is marginal, i.e. it is small relative to the size of the company. Taken together the two projects are not marginal, but this is not a crucial assumption as long as the costs of debt or equity do not alter because of the size of the financing required.

(ii)
The project should be financed in a way that does not alter the company’s existing capital structure. The net present value investment appraisal method cannot handle a significant change in capital structure.

Crestlee’s existing capital structure using market values is:

	
	$m
	%

	30 million ordinary shares at 380 cents
	114.00
	66

	$56 million loan stock at $104
	58.24
	34

	
	172.24
	


If two investments are considered as a ‘package’:

	
	$m
	%

	New finance being raised is: Equity
	9.175
	66

	Debt
	4.725
	34

	
	14.000
	


The company’s capital structure does not change as a result of these two investments.

(iii)
The project should have the same level of systematic risk as the company’s existing operations. As the textile investment is an expansion of existing operations it is reasonable to assume that is has the same systematic risk. The diversification into packaging could have very different risk characteristics. The company’s existing weighted average cost of capital should not be used a discount rate for the diversification.

Textile expansion

The discount rate may be based upon the company’s WACC (given that assumptions above are not violated).

Using CAPM, Ke = 6% + (14% – 6%) x 1.2 = 15.6%

WACC = 15.6 % x 66/100 + 11% x (1 – 0.33) x 34/100 = 12.8%

This is the suggested discounted rate for the expansion.

Packaging diversification
The systematic risk of diversifying into the packaging industry may be estimated by referring to the systematic risk of companies within that industry. However, the equity beta is influenced by the level of financial risk (gearing). Unless the market weighted gearing of Canall and Sealalot is the same as Crestlee, it is necessary to ‘ungear’ the equity beta of these companies (to remove the effect of financial risk) and regear to take account of Crestlee’s financial risk.

	Gearing
	Canall ($m)
	%
	Sealalot ($m)
	%

	Equity
	72.0
	81
	138
	91

	Debt
	16.8
	19
	13
	9

	
	88.8
	
	151
	


These are both significantly different from Crestlee.

Ungearing Canall (assuming debt is risk free and 
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Ungearing Sealalot
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These are very similar. The ungeared equity beta of the packaging industry will be assumed to be 1.125.

Re-gear: solve for 
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Ke = 6% + (14% – 6%) x 1.51 = 18.08%

WACC = 18.08% x 66/100 + 11% x (1 – 0.33) x 34/100 = 14.4%

15% is not an appropriate discount rate for the textile projects. The less risky textile expansion has an estimated discount rate of 12.8%. The correct discount rate for the proposed diversification is 14.4% which might be considered to be close enough to 15% to justify the use of the 15% discount rate.

(b)

The marketing director might be correct. If there is initially a high level of systematic risk in the packaging investment before it is certain whether the investment will succeed or fail, it is logical to discount cash flows for this high risk period at a rate reflecting this risk. Once it has been determined whether the project will be successful, risk may return to a ‘more normal’ level, and the discount rate reduced commensurate with the lower risk. If the project fails there is no risk (the company has a certain failure!)

The other board member is incorrect. If the same discount rate is used throughout a project’s life the discount factor becomes smaller and effectively allows a greater deduction for risk for more distant cash flows. The total risk adjustment is greater the further into the future cash flows are considered. It is not necessary to discount more distant cash flows at a higher rate.

Answer 7
(a)

Using the dividend growth model, the share price of NN Co will be the present value of its expected future dividends, i.e. (66 x 1·03)/(0·12 – 0·03) = 755 cents per share or $7·55 per share.
[2 marks]
Number of ordinary shares = 50/0·5 = 100m shares

Value of NN Co = 100m x 7·55 = $755m
[1 mark]
Net asset value of NN Co = total assets less total liabilities = 143 – 29 – 20 – 25 = $69m

[2 marks]
In calculating net asset value, preference share capital is included with long-term liabilities, as it is considered to be prior charge capital.

(b)

The after-tax cost of debt of NN Co can be found by linear interpolation

The annual after-tax interest payment = 7 x (1 – 0·25) = 7 x 0·75 = $5·25 per year

[1 mark]
[image: image17.emf]
After-tax cost of debt = 4 + [(1 x 3·02)/(3·02 + 2·25)] = 4 + 0·57 = 4·6%
[3 marks]
(Examiner’s note: the calculated value of the after-tax cost of debt will be influenced by the choice of discount rates used in the linear interpolation calculation and so other values would also gain credit here.)

(c)
Annual preference dividend = 8% x 50 cents = 4 cents per share

Cost of preference shares = 100 x (4/67) = 6%
[1 mark]
Number of ordinary shares = 50/0·5 = 100m shares

Market value of equity = Ve = 100m shares x 8·30 = $830m
[1 mark]
Number of preference shares = 25/0·5 = 50m shares

Market value of preference shares = Vp = 0·67 x 50m = $33·5m
[1 mark]
Market value of long-term borrowings = Vd = 20 x 103·50/100 = $20·7m
[1 mark]
Total market value of company = (Ve + Vd + Vp) = (830 + 33·5 + 20·7) = $884·2m

WACC = (keVe + kpVp + kd(1 – T)Vd)/ (Ve + Vp + Vd) = (12 x 830 + 6 x 33·5 + 4·6 x 20·7)/884·2 = 11·6%
[2 marks]
(d)

A number of factors should be considered in formulating the dividend policy of a stock-exchange listed company, as follows.

Profitability

Companies need to remain profitable and dividends are a distribution of after-tax profit. A company cannot consistently pay dividends higher than its profit after tax. A healthy level of retained earnings is needed to finance the continuing business needs of the company.

[1 – 2 marks]
Liquidity

Although a dividend is a distribution of profit, it is a cash payment by the company to its shareholders. A company must therefore ensure it has sufficient cash to pay a proposed dividend and that paying a dividend will not compromise day-to-day cash financing needs.


[1 – 2 marks]
Legal and other restrictions

A dividend can only be paid out in accordance with statutory requirements, such as the requirement in the United Kingdom for dividends to be paid out of accumulated net realised profits. There may also be restrictions on dividend payments imposed by, for example, restrictive covenants in bond issue documents.


[1 – 2 marks]
The need for finance

There is a close relationship between investment, financing and dividend decisions, and the dividend decision must consider the investment plans and financing needs of the company. A large investment programme, for example, will require a large amount of finance, and the need for external finance can be reduced if dividend increases are kept in check. Similarly, the

decision to increase dividends may reduce retained earnings to the extent where external finance is needed in order to meet investment needs.


[1 – 2 marks]
The level of financial risk

If financial risk is high, for example due to a high level of gearing arising from a substantial level of debt finance, maintaining a low level of dividend payments can result in a high level of retained earnings, which will reduce gearing by increasing the level of reserves. The cash flow from a higher level of retained earnings can also be used to decrease the amount of debt being carried by a company.


[1 – 2 marks]
The signalling effect of dividends

In a semi-strong form efficient market, information available to directors is more substantial than that available to shareholders, so that information asymmetry exists. This is one of the causes of the agency problem. If dividend decisions convey new information to the market, they can have a signalling effect concerning the current position of the company and its future prospects. The signalling effect also depends on the dividend expectations in the market. A company should therefore consider the likely effect on share prices of the announcement of a proposed dividend.

[1 – 2 marks]
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